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1. The value of(=5s) +(—=75s)is
(i) (=12s) (i) (=13s) (iii)) (=15s) (iv) (—=11ls) (v) (—=10s)

2. The value of (=9r) +(=9r) +(=7r) +4ris
(i) (=24r) (i) (=21r) (iii) (=20r) (iv) (=22r) (v) (=19r)

3. The value of (—2k%) +8k% +(—9k?) is

() 0 (ii) (=4Kk%) (i) (=2k2) (iv) (=5k%) (v) (=3k2)

4. The value of (—4k%) +8Kk* +(—9k*) +(=3K%)is
(i) (=7k%) (i) (—8&%) (i) (—6k%) (iv) (—94%*) (v) (—10k%)

5. The value of (—=6¢t+1) +(5¢t—6)is
(i) (=5) (i) (=3t=5) (iii) (2t=5) (iv) (=t=5) (v) (=2t-5)

6. The value of (82 —6/+5) + (2 +9/+6) is

(i) (9/2+3/+11) (i) (10/2+3/+11) (i) (12/2+3/+11) (iv) (6/2+3/+11) (v) (8/2+3/+11)

7. The value of (=64 +3+8) + (=94 +63+3) is
(i) (=144 +78+11) (i) (=124 +78+11) (i) (=154 +78+11) (iv) (=174+78+11)

) (-164+7683+11)

8. The value of (=252 +45—2) +(45*+353+45) +(65° +65%+2) +(85* +453-5) s
(i) (35°+185%+753-252+85-5) (ii) (65°+185%+755—-252+85-5) (iii) (55°+185%+753—252+85-5)

(iv) (95°+185%+753-252+85-5) (v) (7s°+185%+753-252+85-5)
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9. The value of—3—u +—Su is
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1 1 3
The value of 2 + -2 + =2 is
3 3 5

(i)
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N S f2 (i) —f£2 (i
(ii) 17 (iii) 15 (iv)
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1 4 3 2
The value of =4 +-A4 +=r4 +=r4is
2 5 5 3

79 5 73 77
(i) 30 (i) 3 (iii) 28 (iv) 30 (v)

The value of (=9)) —4/is
(i) (=12))

(ii) (=13))

(iii) (=16/)

The value of (=8n2) —8n2 —(=2n?)is

(i) (=13n%) (i) (=15n2) (i) (=14n2) (iv) (=11n%) (v) (—=16n2)

The value of6x3 —(—7x

3)

is

81,4
32

(iv) (=10/) (v) (=14))

(i) 16x3 (i) 14x3 (i) 12x3 (iv) 10x3 (v) 13x3

The value of2s° —(—45°) —(—35°) s

(i) 952 (ii) 78> (i) 8s° (iv) 1252 (v) 10s°

The value of (=87=2) —(=5f=2)is
(=37 (i)

(i)

(=41 (i)

(=21

(iv) (=57

(V)

The value of (5 W2—3W+6) — (-7 W2—9W+7) is

(i) (12w2+6w—1) (i) (10w2+6w—1) (i) (11w2+6w—1) (iv) (13w2+6w—1) (v) (15W2+6w—1)

The value of (3d° +6d+7) —(3d°+3d—4)is

(i) (60°=3dP+3d+11) (i) (2d°=3d3+3d+11) (i) (4d°-3d3+3d+11) (iv) (d®—-3d3+3d+11)

(v) (3d°-3d3+3d+11)

The value of (8P +2A4+5R8) — (4P -7FA-7H - (=P +4f-8)is

(i) (7P +94+6R +3F+8) (i) (AP +9FA+6A+37+8) (i) (5P +9A4+6P +37+8)

(=1

(iv) 3P +9A+6R+3f+8) (V) (P+9/A4+6R +3f+8)
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The value of=m2 —=m2 —-m? is
2 5 4

1 1 1
(i ( 20m ) (ii) 18/77 (iii) 22m (iv) 20m (v) 20/77

1 3
The value of=h3 —==h3is
4 5

9 1 7 7 7
Y (=—h3Y (i) (==A3) (i) (=—Ah3) (i —_ A3 —— A3
(i) ( ) (i) ( 2 ) (i) ( 18 ) (iv) ( > ) (v) | )

20 20
2 1 1
£5 _T\5 _ 15
The value of5y 3y 4y is
11 3 11 13 11
. _ 5 . _ 5 _ 5 . _ 5 _ 5
(i ( 58)/) (i) ( 2oy) (iii) ( 60)/) (iv) ( 60)/) (v) ( 62)/)

The sum of the terms(—=7v) ,4v,4 ,(—6),(=5v)is
(i) (=9v—=2) (ii) (—=8v—=4) (iii) (-8v—=2) (iv) (=8v) (v) (=7v=2)

The sum of the terms6n,5mn,(-2n),(=2n),5is

(i) (6mn+2n+5) (i) (5mn—n+5) (iii) (5mn+5n+5) (iv) (5mn+2n+5)

The sum of the terms4v,9Quv,(—-3¢t),9tu,(—8u)is

(v) (4mn+2n+5)

(i) (8tu—3t+9uv—-8u+4v) (ii) (9tu—-5t+9uv—-8u+4v) (iii) (9tu—t+9uv—-8u+4v)

(iv) (9tu—3t+9uv—-8u+4v) (v) (10tu—-3t+9uv—-8u+4v)

The sum of the expressions(—-4g9+2),(99-7),(7g+9),(8g—6),(—-12g9g-2)is
(i) (8g—4) (i) (79—4) (i) (9g—-4) (iv) (8g—6) (v) (89-2)

The sum of the expressions(—7p+1),(90+2),(90-3p),(—=20p+7),(3p—7)is

(i) (=20p+180—-7p+3) (ii) (=20p+210-7p+3) (iii) (—op+180—-7p+3)
(v) (—20p+160—7p+3)

The sum of the expressions(—6r—18) ,(=7r—4),(6r+1) ,(8r+5),(—-6r+7)is
(i) (=5r=9) (ii) (=5r—11) (iii) (=5r—6) (iv) (=6r=9) (v) (—-4r-9)

(iv) (=30p+180—-7p+3)

The sum of the expressions(14p—-7q9—-9) ,(4p+29g-5),(-3pg—7p+8q) ,(3p+39—7),(5pg—4qg-2)is

(i) (pg+14p+29—-23) (ii) (2pg+1d4p+2q9g—23) (iii) (2pg+1lp+2q9g—23)
(v) (3pg+14p+2q9-23)

The value of (= fg) +(—fg) is
(i) (=2fg) (i) (=fg) (iii) (=3fg) (iv) (—4fg) (v) O

The value of (=7252) + 3252 +(—6r2s2) +92s% is

(i) (=27%s%) (i) 0 (i) (=3r252) (iv) 2r%s%2 (v) (—r®s?)

(iv) (2pg+17p+29-—-23)
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The value of4/jk + 3ijkis
(i) 8ijk (ii) 4ijk (iii) 9ijk (iv) 7ijk (v) 6ijk

Thevalueof603p3q3+o3p3q3+(—503p3q3)+(—903p3q3)is

(i) (—803p3¢3) (i) (-603p3¢3) (i) (—403p343) (iv) (=903p3¢3) (v) (=703p>¢3)

The value of (6 hi+4i+6) +(—9hi+2/+15)is

(i) (=2hi+6/+21) (ii) (=3h/i+9/+21) (iii) (=3hi+4/+21) (iv) (=4hi+6/+21) (v) (=3hi+6/+21)

The value of (2g2h%2 —g? h—8h2 +1) +(4gh+T7g—3h+4)is
() (2g°h2=3g°h+4gh+7g—-8h%2—3h+5) (i) (2g°h°+g°h+4gh+7g—8h%2—3h+5)
(i) (3g2h%—g?h+4gh+7g—8h%2—3h+5) (iv) (29°h2—g2h+4gh+7g—8h%—3h+5)

(v) (gzh2—92h+4gh+7g—8h2—3h+5)

The value of (—4vx+v—7) +(—7vx+2x+8)is
(i) (=12vx+v+2x+1) (i) (=10vx+v+2x+1) (iii)) (-11lvx+4v+2x+1) (iv) (-1lvx—v+2x+1)

(v) (-1lvx+v+2x+1)

1 1
The value of-3 ef+-3 efis

2 4 2
i i (i i f f
(i) 2ef (ii) 5e (iii) O (iv) 3e (v) 3e

2 1 2 1
The value of-5a2b2 +-4a2b2 +-3a2b2 +-2a'2b2 is

109

107 111 107 7
(i) azb? (i) = a2b?  (iii) 0 azh? (iv) aZb? (v) “-a2b?

58

2 4
The value of—ijk + —ijk s
5 5
8 4 6 6
i) —ifk (i ifk (i) 2ijk (iv) —ijk (v ijk
()5/()5/()/()5/()7/
The value of 7vw — 3vwis
(i) 3vw (ii) 4vw (iii)) 7vw (iv) S5vw (v) vw

The value of (=6 h/) —8hi—4hi—(=3hi)is
(i) (=17hi) (i) (=15hi) (i) (=13hi) (iv) (=16hi) (v) (=14hi)

The value of(—6e2f2g2) —(—7e2f2g2) is

(i) 2e2Rg% (i) (-2e2Rg%) (i) e2Rg? (iv) 0 (v) 3e2fg?



45, The value of(7vw—6v—-7) —(3v+w-=2)is
(i) (7vw—=7v—w-=5) (ii) (8vw—-9v—w-5) (iii)) (7vw—-9v—w-=5) (iv) (6vw—9v—w-5)

(v) (7vw—12v—w-5)

46. The value of(5/25—r2+7r—65) —(5/252+r2—252+25) is

(i) (=4r%s%2+5Ps=2P+7r+252-85) (ii) (=6r%s%2+5P5-22+7r+252-85)
(i) (=5P252+2P 52 +7r+25%-85) (iv) (=522 +7Ps-2r2 +7r+25%-85s)

(V) (=5P52+525-22+7r+25%-85s)

47. The value of (80g+80—-4) —(—80pg—8p—2)is
(i) (8opg+100g+80+8p—2) (ii) (90opg+80g+80+8p—2) (iii) (8opg+80g+80+8p—-2)
(iv) (7opg+80g+80+8p—2) (v) (8opg+509+80+8p—-2)

1 1
48. The value of3mn - 2mn is

(i) (—-1mf7) (if) (—-1/77/7) (i) (—1mn) (iv) (—1mn) (v) -1mf7
i . i 5 i 8 iv A .

49. Th | flo 20 20 4op's
. e value of- —- - - i
5 P 3 p 3 P 5

() (~220p) (i) (~>op) (iil) (~20p) (V) (~20p) (V) (~>=op)
I 15 Pl 15 pr 5 Pt 13 prv 17 P

4 1
50. The value of _ w2x2y2 — 5 w2x2y2 s

1 1 3 3 1
i 2522 (i 2522  (iii 2322 (i 2 522 2 32 /2
i we x ii we x iii we x iv we x \ we x
(i) y ()1 y< (i) y ()1 y ()2 y



Assignment Key

1) (i) 2) (ii) 3) (v) 4) (ii) 5) (iv) 6) (i)
7) (iii) 8) (ii) 9) (iv) 10) (i) 11) (iii) 12) (iv)
13) (ii) 14) (iii) 15) (v) 16) (i) 17) (ii) 18) (i)
19) (v) 20) (ii) 21) (v) 22) (v) 23) (v) 24) (iii)
25) (iii) 26) (iv) 27) (iv) 28) (i) 29) (i) 30) (i)
31) (ii) 32) (i) 33) (v) 34) (iv) 35) (v) 36) (v)
37) (iv) 38) (v) 39) (v) 40) (iv) 41) (iv) 42) (ii)
43) (ii) 44) (iii) 45) (iii) 46) (v) 47) (iii) 48) (i)
49) (i) 50) (iv)
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